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Materials
For this paper you must have:
* mathematical instruments.

You must not use a calculator for sectionA.
You may use a calculator for section B.

Instructions

+ Use black ink or black ball-point pen. Draw diagrams in pencil.

* Answer all questions.

* You must answer the questions in the spaces provided. Do not write outside the box around
each page or on blank pages.

* Do all rough work in this book. Cross through any work you do not want to be marked.

« State the units of your answer where appropriate.

Information

* The marks for questions are shown in brackets.

* The maximum mark for sectionAis 15 and section B is 45.

* The maximum mark for this paper is 60.

*You may ask for more answer paper, graph paper and tracing paper.
These must be tagged securely to this answer book.

Advice
* In all calculations, show clearly how you work out your answer.
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and mock exam attempts over time

View historical attempts to analyse
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SECTION A : Non-Calculator

Answer ALL questions.
Write your answers in the spaces provided.

Tumn over »
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1 Write the following numbers in order of size,
3.2 327 372 3702 3.02
[1 mark]

Answer 'S'O?,,lf).z ‘ 5.23 / 3':302., 3.92

2 Work out
1 . 21
5747
[2 marks]
> _ 8 L 9 XM _ _ 32
\c* % 2%== -
B ———H—2.0—
0 e kS
_':_5...2: s _ 34 uxS 20
+ = Pdk
Answer 43
20
3 The distance between two towns on a map measures 8cm. The map has a scale of
1:25000
What is the actual distance between the two towns in km?
Pz \. 75000 [1 mark]
¢ 200000
200000 Cnn = 2000 m = 2 \ewm
Answer ‘2_\& %
Turn over for next question
Turn over
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K}
4 Calculate 6402 4 3.545
[1 mark]
(kO 2
S4S "
Answer C’ eIy
5 The distance an object has moved from its starting point, d, after an amount of time, t,
is given by the formula
d = 29t%
where d is measured in metres and t is measured in seconds.
Estimate the distance the object has travelled after 5.1 seconds.
[3 marks]

g = 3_Q»<S__?' o S
| = 20X 5«5 o
= 150

Answer _Q_S_O___ SR

6 Calculate 4335 + 6
[1 mark]

Turn over for next question

Turn over »
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4
7 Some painters are planning on painting a shape on a wall. They have drawn a sketch
of the painting below. \s 5— W
2m
25m
35m
, O Swm
Sm

Calculate the area the painters are planning on painting.

[3 marks]

_V5x2-S= %3S wm*

~3°540°S= V' FS wm?

Acer = B FSH)IS = S-Swmy 2

Answer B SS ml

8 It would take 7 hours for 3 people to paint the shape on the wall. How long would it
take to paint the shape on the wall if another person joins, assuming that they all paint
at the same rate?

[3 marks]

Fx3 =22\ hows fev | peson
e a2 Vouwy Sl = Pecple

203U = S25 hows fev L peepie

Answer S - '2_< S

End of Section A

Turn over »
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SECTION B : Calculator

Answer ALL questions.

Write your answers in the spaces provided.
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6
9 Whrite in digits five hundred and seven thousand, seven hundred and twenty three,
[1 mark]
Answer 50 :}' qr 2 5
10 A manufacturing company produce metal fixings for a DIY retailer.
On one day the manufacturer produces 23040 fixings, of which 1920 are faulty.
What fraction of the fixings produced on this day were defective?
Give your answer in its simplest form.
[2 marks] ;
\420 W
) __Z%OLEO_ -':___\_Z S R e S P S e
- = = A e e ___:l_____ = e
nswer
e e N .
1 Plot the coordinate (4,3) on the graph below.
12 s
10
8
6
4
X
2
0
0 2 4 6 8 10 12
[1 mark]
Turn over for next question
Turn over b
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12 Darren has been given £6000 from his parents to pul towards a car in the fulure, He
is looking for the best savings account lo put his monay in for 2 years.

He sees these (wo savings accounts:

YTwo savings account Standard savings account
Save for 2 years and receive 2.5% interest added at the end
4.25% interest of every year

He says that he would have over £50 more after 2 years if he used the Standard
savings account instead of the YTwo savings account.

Is he correct?

Show your working.
[5 marks]

YTwe ;. 6000x 1:0u4zS = £62SS
Shawdard | 6000 X 1:025 x) 025
= L4302 7S

502 3S — (2SS = £4%-3S

NO e s wok ovreetr .

Answer NO

Turn over for next question

Turn over »
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13 The diagram below shows an isosceles triangle. Find the missing angles in this
isosceles triangle, labelled x.

Answer S \ ©

14 Jessie measures the heights of her 7 friends, and works out that their mean height is
1.73 m. She measures her own height and works out that the mean height of all of
them is 1.74 m.

What is Jessie's height?
[3 marks]

\ . ’A'_B_X_q_:';__lz *\) wa }'O\'C\\ ME\B\/\&—

% T frevds
AYUxg = A UZ M vota Wie g b

gefom R

jQSSvQ s helgwy = \quz —\2-\\Z )-%ln

Answer ___\'%\W'!._

Turn over for next question

Turn over
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15 Demi pre-booked a hire car to use on holiday in Spain, She paid £70 in lotal which
gave her car hire for 7 days,

When she went on holiday, she realised that it may have been cheaper to hire the car
in Spain, instead of pre-booking it.

The cost of the car hire, in Euros (€), in Spain is calculated using this formula;
cost = 0,6(30 + 15d)

where d is the number of days the car is hired for.

Demi uses this conversion graph o convert between Pounds (£) and Euros (€).
70
0 Tt
in B Lt
Euros (€) - ;

30 3 k! S 41 3 S -1 Bl

200 Bt ___i__,._ szt b 0 el B B D HEul il

. | ! |
10 1 1 —————— e & ol

0 10 20 30 40 50 60 70
Pounds (£)

Work how much Demi would have saved by payin

nuch De g for the car hire in Spain, instead
of pre-booking it. Give your answer in Pounds (£).

[5 marks]

Answer space provided on next page

Turn over »
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10

Ben ook = Oh (B0+15xF)
- &2 € R)

{nrcww Grapn 30 = £60
SO -E\ — 60"30

Answer - E 2_ _"SQ_____

16 Whilst Demi is on holiday in Spain, she buys a coat that was reduced by 20% in a
sale. If the sale price was €180, how much was its original price?

Give your answer in Euros (€).

[2 marks]
20% reduchon = O-R
4020k = €225 .
Answer _ é Z Z_ S
Turn over for next question
Tum over b
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17 The table gives information about the number of girls and boys in Years 9 and 10.
- Year 9 Year 10 Total
Boys | 62 | 9 | \S4
Girls 112 ‘%L‘, - 196
Total 174 \% ) Z S <

Complete the two-way table and use this to find the probability that a student selected
atrandom is a boy.

[4 marks]

: : e,
Answer 3 SC

18 Susan makes fudge using 2 parts of chocolate to 3 parts of frosting. Susan makes a
batch of fudge using 510 g of frosting.

She eats 10% of the fudge she has made, and then splits the remaining fudge into
individual bars, each weighing 100 g.

How many individual bars of fudge can she make?

[3 marks]

MeEs = 2"*'5_‘1:5

_yvdge = SA 13O = SSO

Aonownar af—[—@‘ eatens = 850409 = ’—}6§j

Nowyes of bare = FHST V100 = F.65
Answer —F

\ pack = SO0 F3B= \FO o

Turn over for next question

Turn over »
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12

19 Donald is a zookeeper. In 2018, he measured the weights of the 6 leopards that are
keptin the zoo, and recorded his results in the table below.

Leopard 1 2 3 A 5 6
Weight

32 29 27 34 30
(kg) -

In 2021, the median weight of the leopards was 68 Ibs,
1kg=2201bs

Calculate the percentage change in the median weight of the leopards from 2018 to
2021,

[5 marks]

ZON% L & , \
med {an 2F 2F 20 30 B7 24
mediawn = 29:Sky

Medanin \bs = 29:SX 2.20 = 64dlbs

Yorenege dnonge = 63- 649 x 100

Answer N LE’_ °/‘+'%j~_ (20\\0)
(NCvenSe

Turn over for next question

Turn over »
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20 A paperweight is shaped as a cylinder. The paperweight has a radius of 2 cm and a
height of 5 cm.,

The paperweight has a mass of 350 g, Calculate its density in g/em?.

Use 7 = 3.14.

[4 marks]

Arear o} circ\e

volume = 12-S6x

DenSihy = O3] = Volwuee
= BSe < 2%
= S5:5F3 e A Jewm?

Turn over for next question

Turn over »
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21 Nabeela travelled to London by train, Her journey was made up of two parts, including
a short wait in between,

One train into York and then another train into London,

The first train depared al 07: 05 and the journey lasted for 12 minutes,
The second train departed at 07: 27 and the journey lasted for 122 minutes,
The total distance travelled was 197 miles,

What was Nabeela's average speed for the entire journey?

Give your answer in miles per hour (mph).

[4 marks]

_jOl/VV!Qb Yrve = \2404122 = ek nmins

505 \UYuwins= 1kl ~=60= 2-L iouws

= \97F = Z-l o

= %2.0833- wmpn

Answer _”mgngg V\’\P\’\ ) CZ‘;‘ p)

Turn over for next question

Turn over »
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22 A shop has three offers on cola,
Offer 1 Offer 2 Offer 3
2 litre bottle 4 x 330 ml cans 500 ml bottle
Price: £1.80 Price: £2.20 Price: 60p
Offer: 10% off Offer: half price Offer: % off

Which offer provides the best value for money?

Show your working.

[4 marks]

Offe Lz (196X 09122 = £0O-§1 par liive

. Offr 22 (220x0°5 )= (0350 xu)

T EO¥3 oy ¢

Ofer ¢ (0606x0-35) 0-S
= £0°90 ger lvhre
O/ ) vorlre ege K{O{[/v;_ Q@x/ W‘O_Vl_

Answer OFW :]__ )

End of Section B
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